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QUESTION 1

There are two parties in the V model: 

the supplying party the accepting party Which system development phase or test phase is not performed by the
supplying party? 

A. Functional design 

B. Realization 

C. System test 

D. Technical design 

Correct Answer: D 

 

 

QUESTION 2

For the creation of the central starting point there are several techniques. In the given situation it is necessary that
consistency between the data entered is guaranteed. Which of the techniques below is preferable if only one technique
may be used? 

A. use of production data 

B. entering through separate front-end software 

C. entering through regular system functions 

Correct Answer: C 

 

 

QUESTION 3

Which system development method is agile and contains structured guidelines for development testing? 

A. DSDM 

B. SDM 

C. XP 

Correct Answer: C 
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QUESTION 4

See the specification below: 

Apply the Decision Table Test to the above specification. When doing this, use the coverage type multiple condition
coverage. How many logical test cases result in an error message? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

 

QUESTION 5

What is the aim of a unit test? 

A. to demonstrate that a unit meets the functional specifications 

B. to demonstrate that a unit meets the technical specifications 

C. to demonstrate that a unit integrates properly with other units 

Correct Answer: B 
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